848

FEN (1/25)
3000 3000
FT—40AP81C30 FT—=40AP8TW30  FT—40AP81TES0 FT—=40AP8TPLA0
450137 17@148=2516 137(45
‘ ‘ P47 . /xt2.5 921 7xt1.9 ‘ o @ o o0
/ é ? == ==
: / J% |
% Qo 00 00 (0 @]
O O O O O
: ) L elg 2|2 3 3% | IS S| 3
/ < © o
I 1| || 1 - D N o/ ;5
 GL JIN O GL ‘ GL [I| oL = 6L JIL &}
- g B o Z\ R T
S $34.0x12.3 = I & | 5 %&0«
$60.5% £3.2 ~ = Wit +M12x 30
. : — Ty b7y H= M12
0300 (kv rEe18% 55mm)
%18 (1/15) Bt B (1/4) R-2TL- L EBE (1/10)
4—922
A—ASTE BB @ | <
3000 3000 : o | o|—
AR Y b Il 8 %
(2830) (2880) W} s @@7 12530\ | 1| 2 o0 rONI
[
@148 137(45) | [(45)137 @148 ﬂ Fax o 7,,\ v W 75 |WOO| 5 &
BE/AZN L Gt Fy b7V H- M IWE)OI
< 4% BF 2 (FULES18RE55mm)
‘ | | — % B /
' aiik = 0 | $60.5x13.2 ) -
2 _ _ i e E
| gt A~ LA~ X B | STK400 | BRho & + HEWRRE
2 | B B) BF /2 | STK400 | B3wo & + HERHKRE
128 42.7 o
L2 | = o A | Ab 55| | = mit28 | SGHA00 | Bl - = + HENHEE
Cl gl s ‘ =] BRAN b | 4685 | BBBRH>F M12x90
T % i ST ESxvv 7| PL EEHE
| - e EE e A [FoAt-x| ~-A % - RAk &
N s e e i | I = L S \ \M\ ‘ LN \ . Ty V7Y H - Bridsneo & M12
” 2 o S mftin b | 4.68% [ BREBDo & M12x 30
GL N gu B AE2 1] G BIEBPOLIVZHEES 5201 BY E7.
AIRA L b ¥ i R e
M12% 90 M12x 90

960.5xt3.2



